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Mr. Schlansky Geometry

Corresponding Sides and Angles

1. What is the largest angle of AROY? What is the smallest angle of AROY?
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2. In triangle SPY, mZS =35 and mZY =7(P . What is the largest side of the triangle? What is
the shortest side of the triangle? [§0
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3.In AABC, mZA=45° and mZB =60° What is the largest side of AABC ? What is the smallest

side of AABC? , sO T
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5. In triangle TYL, m£T =71° and m£Y =42°. What is the smallest side of the triangle? What is the

largest side ot(’{the triangle? ﬂ l “(‘ % ] a’gé)",\ Ef——}:
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6. In triangle LYS, m/L=48° and m£Y =101°. What is the smallest side of the triangle? What is

the largest side of the triangle? o S —
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7.In AABC, mZA =60, m/B =80, and mZC = 40. Which inequality is true?

1) AB>BC S>M

AC>BC oM

" 3) AC<BA L &S
4) BC<BA
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8. In the diagram of quadrilateral NAVY below, mZ¥VA = 30°, mZ VAN = 38°, mZAVY = 94°, and

mAVAY = 46°,

Which segment has the shortest length? . 20 150
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